Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.

D 67x27= 2) 29x33=
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86 x80=

Answers
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Lattice 2 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
67 x 27 = 29 x 33 = 86 x 80 = L 1.809
6 7 2 9 8 6
1 A2 4 .7
1 5 0 3 6 s |2 957
1 2 4 0 7 6 7 6 4 | . 8
4 | 4 0o 2 o o ] |&__6880
2 o’ 6 713 ol . 0]°
8 9 1. i 8 L 4 8,118
0 9 5 7 8 0
5, 6,966
4) _ 5) _ 6) _
99 x 82 = 86 x 81 = 65 x 99 = . 6,435
9 9 8 6 6 5
7 A4 4
7 8 6/,' 8 5 /,’ 9 7 1,176
3 2 2 6 |7 4 8 6 4 .7 5
1 1 o .o 5 4 8. 5,576
8 g | 2 g 6| 4l 5°
1 9 //’ 4 ,//
2 - 9. 1,092
1 8 6 - 6 3 5
10. 3,136
7) 8) 9)
49 x 24 = 68 x 82 = 42 x 26 =
1. 1,296
4 9 6 8 4 2
0 1 2 4 6 8 0 0 2 |l 12. 1,008
1 8 8 5 ,,' 8 4 1 8 ,,’ 4
1 3 1 71 2 1 .7
4 2 |6
1 6 6 5. 2 ) 6 0 4 ,," 2
7 6 7 6 9 2
10) 64 49= 1) 4gx27= 12) 63x16=
6 4 4 8 6 3
1 1 0o
2 4 0, 2 0 P
3 4 6 T 6 1 6 . 3
5 3 A2 s 3 1
9 7 e
1 4 6 >l 8 6 0 6|, 8
3 6 9 ./ 6 0 8
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